dY=A[1+A5/A;Y]
Sz YcieLas/dYinD=6.-4

1.0 225
A,lA; = 0.2895
A1 =0.0205 A = 0.005!

Richter_D_PO2_022S
(xy,Y}=(0,33, 0,36, 18)

e
-05 0,0 05 1,0 x=log[Y/Yyq
36 18 90 180 Y




dY=A[1+A5/A;Y]
#AYciELAB/dYiND=6.1

1.0 225
AolA; = 0.3405

A3=10 A=10
Richter_D_PO2_066S

4
1
: A;=0.0187 A = 0.006!
1
1
! (x,y,Y)~(0,33, 0,36, 18)

e
-05 0,0 05 1,0 x=log[Y/Yyq
36 18 90 180 Y




dY=A[1+A5/A;Y]
dYcieLas/dYinD=5.9

1.0 225
AolA; = 0.298

A3=1179 A= 1685
Richter_P_PO4_066A

4
1
: A;=0.0219 A = 0.006!
1
1
! (x,y,Y)~(0,33, 0,36, 18)

e
-05 0,0 05 1,0 x=log[Y/Yyq
36 18 90 180 Y




